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3x—dx—x* — 7% + 4x 4 + 9% + 55 + 3% — 82
2(5x2 — 9x2) — 7x% — 3x + 8x7 2 — 3x+ 3(9x2 — 3x2) —Ix
43 + Tx — 20 + 4(5%° + 6x) 2x+ 9% — 5% — 4(x + 2x)
4x— 5x° — 2 + 3x + 8x? 327 — 9x°) = 5x+ T’ + 2x
3x% — Ox — 2(3x+ x) —4x Ox° + 5x— & — 6 — 7x°
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3x—dx—x* — T + 4x
—7x> = X +3x

2(5x% — 9x%) — 7% — 3x + 82

7% — 3x

43 + Ta% — 223 + 4(5x% + 6x)
23 + 2722 + 24x

dx— 56 — 200 + 3x% + 8x?
—7%¢° + 1157 + 4x

3x% — 9x — 2(3x + x) — 4x
3x2 - 21x

Aics:

4 4+ 9 + 5 + 3x% — 8x2
x> + 4x?

23 = 3x+3(9%% — 3x%) — Tx
23 + 18x¢ — 10x

2x+ 9% — 5x2 — 4(x + 2x)
9 — 5% — 10x

3(2%° — 9x%) = Sx + T + 2x?
27> + 15¢ — 5x

O + 5x— 8¢ — 6x° — 7x°
—12x° + 5x
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